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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet. . :

Candidates are required to give their
answers in their own words as far
as practicable.

Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

This question booklet is divided into
two sections — Section-A and
Section-B.
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GUS-3 # 70 awgfre wvw § fd 6.
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JAF & v 2 sF Pl & e
q@ f&et 10 weAt ®mr v
sfvard & | 3% sffte @ @ve o
6 39 IR v RE 12§ v &
ke s sw Fuifke & o @ et
3NV BT IV T a1

w3 oty afaa & 1

WW-B.

| [118]
In Section-A, there are .
70 objective type questions, out of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liquid /
blade / naill etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type questions. Fach
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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gUg - A / SECTION - A

E’FjﬁE WIT / Objective Type Questions
W S 1/ 70 7% & GRS 9y & WY 9N A%y Rv qv & frd @ vw gt &
A9 FRT 7 77 W faweq  oMR YT OF RIfEAT 91 Rt 35 gl #T I S

35x1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. urRifefag ave o @

(A) 2% tdifes 3 (B)  50% UdieE v
(C)  10% UHies ana D)  20% YEfew ane
Pyroligneous acid contains
(A) 2% acetic acid (B) 50% acetic acid
(C)  10% acetic acid (D)  20% acetic acid
o
2. CHyC—NH ¥ U
CHS
(A)  WEERIUHA B) WU tHA
(C) et T (D) . FEEAN TaT
C
7
CH?,—(I;‘ —NH; isa
CHB
(A) Primary amine (B}  Secondary amine

(C) ° Tertiary amine (D)  Quaternary salt

1 C |=|3005-s5/60) Page 3 of 32
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l118|
RERRE IR AT o TP P ——— U 2

(A) C4H NH, (B)  CH3NH,
©  (CH,),NH (D}  (CHg)N

ion ?
Which of the following is the strongest base in aqueous solution :
(A) CeHgNH, - () CH,NH,

€ (CH,;),NH (D)  (CHy)3N

CyHgN V-7 & gr1 el o ) =res fear omar & 2

(A) TR Wi B s HiH

C Zhwdt o (D) T & wd

Which of the following can be represented by molecular formula C3HgN ?
(A)  Primary amine (B)  Secondary amine
(C)  Tertiary amine (D) Al of these

mﬁmmm@w@hmm%?

(A) RS (B) R it

(D) UnEE

Which of the following is reduced to get a secondary amine 2

() wifEe A=

(A} Nitrile () Nitro compoung

(€) Carbylamine

(D) Amide
C - 3005-(85;591
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TS I = % Sl Heged | Fefetad § wr faear g 2

(a) Tak o (B) fﬁpﬁﬂ Ud A
(C)  ToEhIY UH WERIW (D) ORI UE Al
Cane sugar on hydrolysis gives which of the following ?

(A)  Only glucose (B)  Glucose and maltose
(C)  Glucose and fructose (D)  Glucose and lactose
e &

(&) FTEREIE B felus

© W= (D) FH AR
Enzymes are |

(A) Carbohydrates (B) Lipids

(C) Proteins (D) None of these

s Qiieet A @ 4,50, @ Hgso A Iuffa & waed fn o &, a@
it T &, T &

) e Yo B) tdEieH
€ UHRieeeEs (D) Hg F FETS

“When acetylene is passed through dil. H,S0,in tht.;. presence of HgSO,, the
compound formed is’

(A)  Ethyl alcohol (B) Acetone

(C)  Acectaldehyde ’ 'ID} Carbide of Hg

C |- [3005-(s5/60) ‘ Page S of 32




[118 ]

(l:l) Pd/BaSQO, e
#H9HFIT R~C—Cl + H,————2> RCHO + HCI %! F&d &
(A)  HERY sl (B)  Toke aAaimar
(€ BErwnd sifufwar (D) wE srfufsear

il Pd/BaSO,

The reaction, R~C—C] + H2—-—--——--> RCHO + HCI is called
(A)  Cannizzaro's reaction (B) Rosenmund reaction
(C) Haloform reaction (D) Clemmensen reaction
Frfeifed & @ teeior goe T 2 ¢ 2
(a)  REE B) W
(C) W : (D) WS
Which of the following docs not give Aldol condensation ?
(A)  Methanal . (B) Ethanal
(C}  Propanone ' (D)  Propanal

9 rfeeerss i afuipar amfE 4 et A ¥ d Fefafaa S few e
fmior gl & 2

(A) WHfceeEe 3T (B) %aaqrﬁreﬂm Eraric

© wfeR (D) ot e

When formaldehyde reacts with NH,, then which of the following compounds
is formed ? |

(A)  Formaldehyde ammonia (B} Hexamethylene tetramine

(C) Formalin (D)  Methylamine

C |- 13005-(s5/60) _ Page 6 of 32




13.

14.

15.

[118
Frtffaa & i St o1 Bramdier o & 2 |
(A) —CHO .o (B) —CONH,

(CL —COOR (D) —CO0CO —
Which of the following is the functional group of an ester ?
(A) —CHO (B) —CONH,
(C) —COOR (D) — COOCO —

Frrfefae § e gr wites anet we wifeserse o SFR foal <1 FheT & 2

(A) SHfeae & A C(B)  EIoH ®T AREHE

(C) Wefert = Ot (D) Gifeqw sgwEHE

By which of the following can formic acid and formaldehyde be distinguished ?
(A) Bendict's solution’ (B) Tollen's reagént

(C) Fehling's solution (D)  Sodium bicarbonate

1
AT, RCOOAg + Br, ——1» RBr + AgBr + CO, ®l F&d §

()  Hvz WG - (B) = EwdEt sflwar

() EEhA st D) Fifaer o sl
- ‘ cal, o

THe reaction, RCOOAg + Br, — RBr + AgBr + CO, is called

(A) HVZ reaction (B) - Hunsdicker reaction

(C)  Hoffmann reaction - (D) Carbylamine reaction

fyeafiad o e fewis oA siashad 8 ?

a)  K,S0, (B) NaCl

© g (D) T

[C |- [3005-tss/60) Page 7 of 32




16.

1T.

[118]

Which of the following will have maximum depression in freezing point ?

(A)  K,S0, (B)
(C}  Urea (D)
1 HU2 & s B @

(A) 9,650 e . (B)
(C) 19,640 it (D)
1 Faraday is equal to

(A) 9,650 coulomb (B)
(C} - 19,640 coulomb (D)

NaCl

Glucose

10,000 Hol

96,500 FoTHa

10,000 coulomb

56,500 coulomb

mﬁzmﬁaﬁﬂﬁﬁmm%jﬁﬁmﬁf@aﬁwm% ?

(A) OIS SIS g &

(B) H,S0, TF: 3 &l &

(C) WT RIS F IR o Tohe H d Y A F

(D) TRl S WK E ST §

What happens when a lead storage battery is charged ?

(A) Lead dioxide dissolves

(B) Sulphuric acid is regenerated

(C)  Lead electrode becomes coated with lead sulphate

(D)  The concentration of sulphuric acid decreases

C |-|3005-(ss/60)
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Friefiaa sfufiFmatt & fae ame seegte fava &1 8 (250 W) fear ma 3

Ag *(ag) + e~ - Ag(s), E°Ag*/Ag=+0-80V

Sn**(ag)+2e —»Sn(s), E°Sn?*/Sn=-0-14V

2 T AT sny Su”* || ML) ag ¥ o aTeE Aer T A B

A) 066V (B) 080V
) 108V (D) 094V

The standard electrode potentials for the following reactions arc given
" (At 25°C )

Ag *(ag) + e~ > Ag|s), E°Ag*/Ag=+0-80V

Sn?*(ag)+2e - Sn(s), E°Sn%*/Sn=-0-14V

The electromotive force (EMF] of the given cell

2+ + .
snlfy |1 % |Ag is
(A) 066V (B) 080V
() 108V (D) 094V

eregtor-aiialor et Fren & i e @ A0 € 2

A)  wEE A B) Tgeigs aF

)

€ A _ (D) i HaEw WA
Hydrogen-oxygen cell is which of the following types of cell ?
(A)  Primary cell ' (B)  Secondary cell
(C)  Fuel cell (D)  Lead storage cell

- | 3005-iss/60) ' Page 9 of 32




20.

21.

ot Tt sfvfrar #t o
(A) |G F G gt & | (B)

€ THFIWWUHaHNE (D)

The rate of a chemical reaction

(A) increases with time

(B) decreases with time

(C)  may increase or decrease with time

(D) remains constant with time

Frfetaa & @ yug =i = sfufrar 7t & 2

[118)

79 & 919 92l &

g & aY R T @

(A)  CH,COOC,H, +H,0— ,CH,COOH+C,H OH

(B)  CH,COOC,H, + NaOH——»CH,COONa+ C,H_OH

(©)  2H,0,—> 2H,0+0,

(D)  2N,05 —4NO, +0,

Which of the following is not a first order reaction ?

"
(A)  CH,COOC,H; +H,0——CH,COOH+C,H.OH

(B)  CH,COOC,Hg + NaOH——CH,COONa+ C,H.OH

(D)  2N,0, —4NO, +0,

Cl|-
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22.

23.

24/

faafm o ¥
(A}  UEHTEF 3
C) uEks I

Vitamin Cis
(A)  Ascorbic acid

(C} Citric acid

(B)

(D)

(B)

(D)

Triefes & fead wame sofem @ 2

(A)  FARIRA

) Tt ¢

Which one of the following contains cobalt ?

(A) Chlorophyll

(C)  Vitamin C

(B

(D)

(B)

(D)

frrfetEd o ®i9 deie sger & 2

(A} TEAE- 6

(C) I T aret diferdt

B

(D)

[118]

Frenifefre ot

FALCATE et

Nicotinic acid

Tartaric acid

fagef= B

12

Haemoglobin

Vitamin 812

A6, 6

i

Which of the following is an addition polymer ?

(A) Nylon-6

(C) High densily polythene

(B} Nylon-6, 6
(D) Dacron
& 3005-s5/60) Page 11 of 32
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F,C=CF, F=feiaa & feaes taes & 2

A -

(A) [A G (B)

(C) A FEH-6 (D)

[118]

TAREH

&gql- S

F,C= CF2 is a monomer of which of the following ?

(A) Teflon (B)
(C)  Nylon-6 (D)
FARTEFI € Teh

(A) <% AR | (B)
(C) WrEAREd (15;)
Chloroquine is an

{A}  analgesic (B)
(C) antimalarial (D)

tTefEa § o9 Fe Wegy s 7@ & ?

N

(A)  ZZEEEIH (B)

.

(€  UArEe (D)

' Glyptal

Buna-S

udtaratfes

Sa{ TR

antibiotic

antipyretic

S

T ¥ &I T

Which of the following is not a broad spectrum antibiotic ?

(A)  Tetracycline {B)  Chloromycetin
(C) Penicillin (D)  None of these
3005-(ss/60) | Page 12 of 32




28.

29,

30.

Freifetiad o S Hwd= § 2

(A)  FARISSHA (B)
(C) SFH TFIEINIES (D)
Which of the following is Gammexane ?

(A) Chlorobenzene . (B)
(C)  Benzene hexachloricle (D)
a9 forie & &

(a) wiew 3 (B}
() = (D)
All ligands are

(A)  Lewis acids (B)
(C)  Neutral (D)

m o F LR € ?
(a)  Ni(CO), (B)

(C)  [NiCl,)*" (D)
Which of the [ollowing is paramagnetic ?

(A)  Ni(CO)4 (B)

€ [NiCl ] (D)

(118 ]

DDT

T A g Tl

DDT

None of these

v W&

T @ IS T

Lewis bases

None of these

|Ni(CN),] >

[Co(NH,), | 3*

[Ni{CN),]

[Co(NH,), ] 3*

e

| C I-— 3005-(s5/60)
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B [118]

31. Tfafen o fvg w9 o] 1 Mg T T H9eH € 2
(A) e (B) FARIHEA
(C) TR (D) ATP
Magnesium is an important component of which biomolecule ?
(A)  Haemoglobin (B)  Chlorophyll
(C) Florigen (D) ATP

32. o Siieet e fad diy g e § i g-geiae el €, 8
A [MnO, |~ (B)  |Co(NH,)g]°*

(©)  [Fe(CN), 1™ (D) [Cr(H,0) ]
The complex ion in which central metal atom has no d-electron is

(A)  [MnO,)” (B)  [Co(NH,). |3*

3'6
(C)  [Fe(CN)g)*~ (D)  [Cr(H,0), 1>

33,  HH FYT T & ?

(A)  Ni(CO) ,— IR, FTLAH
(B)  [Mi(CN),|? — Fiteid, Hfergrarhia
(C)  [Ni(NHy)}*" — HLHAD, STTFEHE

(D) [NiCl, | 2" — ASFEHE, FLRIG
[C]-[3005-ss/60)
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Which statement is Incorrect ?

(A} Ni(CO} ,— Tetrahedral, paramagnetic

(B)  [Ni(CN), % Square planar, diamagnetic

(€) [Ni(NH;) %' — Octahedral, paramagnetic

(D)  [NiCl,)* — Tetrahedral, paramagnetic
34, | et & e a1 39 sfemms § @ d o
(A cal, (B} CHCIl,
(C) CH,Cl (D) cocl,

Which of the following compounds is used in fire extinguisher ?

a) ccly, (B) CHCl,

() CHC D) COCl,

35. TS Zeq Yoo KOH & W1 ifwar T 3aT ¥

(a) T (B) UHH

) UewreA D) Ueraies EeewEs
Monohalogen deri;rative on reaction with alcoholic KOH gives

(A)  Alkane (B)  Alkene

(C)  Alkyne (D) Alicyclic hydrocarbon

C |- |3005-(55/60) . Page 15 of 32
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36. TORES AR & Wiy et o feas g e g ?

(A) T UAEHUT fafy (B) I JuEERTO (&

(C) W Ieean faf (D) A SEeHLoT faY

Sulphide ores are generally concentrated by which of the following ?

(A}  Gravity separation process (B)  Magnetic separation process
(C)  Froth floatation process (D)  Carbon reduction process

37. Frefefed & @9 uig &1 FHepdor fogge-foede st fwar & g @ a1 8 2

(4 Na (B) Mg
€} Al : (D) Fe
Which of the following metals is not extracted by the process of clectrolysis ?
(A) Na (B) Mg
(€) Al (D) Fe

38, g9 @i fafy % gRT Feferad | YIq T T Bl € 2

&)  Cu B) Al

" (© Fe - D}y Zn
Which of the following metals is purified by Hoope's process ?
&) Cu (B) Al
C Fe . D) Zn

a9, fyefefige § # go) HF U Al 6 R 2
(A)  EEGEH B, e
() RZNHA (D) WA

Lal

C |- | 3005-(ss/60) Page 16 of 32




40.

41.

42.

A [118]
Which of the following is the gas with lowest boiling point ?

(A} Hydrogen (B)  Helium

(C)  Nitrogen (D)  Argon
Frafefea & ®5 fok w &l SIS Tl € 2

(f}l F, (B) Cl,
(€ Br, oy 1

Which of the following forms only one oxyacid ?

@ F, B Cl,
(C) Br, . Dy I,
S, H UEH I AERH ST €

A) +2 B) +4
() +8 (D} O

The oxidation state of S in Ssis

A) +2 (B) +4
(C) +8 o O
Brrffiad o T e HH e g2

(A) H,Se (B) H,Te
Q) H,S (D) H,O0

C |-|3005-(s5/60) Page 17 of 32




E [118]
Which of the following is the least volatile ?
(A)  H,Se (B) H,Te
(€} H,S (D) H,O0
43.  Trfefad & ® siodieres vd samre 2 @ ATE R AT § 2
(A)  H,S (B) H,S0,
€ so, (D} SO,
Which of the following acts both as oxidising as well as reducing agents ?
(A)  H,S (B) H,S0,
(C) so, . (D) SO,
s, Freofiam % 2 o i & 7
(4)  NH,4 B) NO,
(C) N,O (D) NO
Which of the following is coloured ?
(Al NH, (B) No,
€ N,Q (D) NO
45, Yoyl T H A TR TS ¥
A tn-1)d° B (n-1)a!~10 ,0,10r2
(€) (n-1)a'""'%pg! D)  ns?npd
———

LC |- | 3005-(s8/60)
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46.

47.

48.

. ' . [118]
The general electronic configuration of transition elements is
5
[A} (n_l)d (B) (n_l)dl-lonsﬂ,iorQ
(C) (n=1)al 104! O)  ns?np®

frfeifad J femd Mo @ sierdwtor dE g § 2

(A) MnSO4 B MnO,

B

(€} Mn,O, ©)  Mn,0,

In which of the following is the oxidation state of Mn lowest ?
(A) MnSO (B] MnO,

(€} Mn;0, (D)  Mn,0,
fpfeif@a 1 ®I9 UaeHIge T8l & ?
&) FREH (B) ST

€ FHE\ _ D) Zfaam

Which of the following is not an actinide ?
(A) Curium (B)  Californium

(C) Uranium (D) Terbium

fferfaa & %A 31E TEA e ?

{A) Cu’ (B) Co”*!

© Ni*' (D) Fe**

|—C—_ - | 3005-(s5/69) Page 19 of 32




[ 118
Which of the following ions is colourless ?

(A} cu* (B) Co?*
©) Ni% (D) Fe*
Fr=fefes § a9 amm it & 2

[A] Cr3+ (B'] V2+

C) s D) Tid*

Which of the following ions is diamagnetic ?

(A)  crot B) Vv
(C) SC3+ (D) Ti3+
TR red o sey el ®) de e 3

o5 3 ®) 1
< 4 D) 14
The number of Bravais lattices in a cubférysta] (s
@ 3 B 1
(C) 4 (D) 14

UF HLHF R Frafofas 7 oo det @ il et &

a) 4 | B 6

S 8 (D) 12

An octahedral void is surrounded by which of the following numbers of
spheres ?

(A) 4 B 6

(C) 8 (D) 12

~ | 3005-(ss/60) Page 20 of 32




52.

53.

54.

| (118
PrAfei@d # 68 TR % 9 & o1 e & 9 § S gt & 2

(A) e B @

© (D) F-&%

Which of the following types of defects causes a decrease in density of a_
crystal ? .

(A)  Frenkel (B}  Schottky
[C) Interstitial (D)  F-centre
et § A g W ¥ 2

(A) NaCl (B) ' Fe,04

© o, D) N,

Which of the following is a ferromagnetic substance ?

(A)  NaCl (B) Fe0,
© O, D) N,
P F STEEA TPV T SR

) | (B S
(c) T IAH o o) B

An example of colligative property of a solution is

(A)  Density (B) Mass

(C)  Elevation of boiling point . (D) Temperature

— | 3005-(s5/60) Page 21 of 32
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56.

57.

[118

ST % 1 kg # S9Rer geg & wielt 3% wen B FEd &

(4)  HeRa (B e

(C)  ATHerar 3 (D) HE T
The number of moles of solute per kg of solvent is called

(A) Molarity (By” Molality

(C) Normality _ (D) Mole fraction

S O o e A wEem o e e gER & oREe S 8, 39
(A) Ui fggor | | (B) 3Egw
(©  icEga oy e

Solutions which boil at a constant temperature without any change in

composition is called

(A) Azeotropic mixture (B)  Unsaturated

(C) Supersaturated (D) Ideal _

a8 SHD TR ST FeA-1-30c1 F 1-5meR 979 § arer &, &

(A}  CHBr, | By Br,

(© CH 3Br (D)  PBr,

The reagent which is used to .prepare 1-Bromobutane from Butan-1-ol is
(A)  CHBr, B) Br,

(C) CH,Br (D) PBr,

[C]-[3005-ss/60  Page220f32




E freAfeaiEd o 1 difre sear & oy

(118 ]

CeHg +Cl, (Fnfemry) Tmm

(;‘A] Wﬁﬁa?ﬁﬂ (B) p@éﬁ?ﬂﬂﬁ?

D) A ERIEIRES

is formed when — .

() TR
Which of the following compounds

CegHg +Cl, (excess)—unbght | ?

(A) Chlorobenzene (B) p-Dichlofobcn zene

(C) Hexachlorobenzene (D) Benzene hexachloride
59. FAiEd o ®H AEEER wieor 3 € 2

(A}  CH3;OH | ' (B) (CH,),CHOH

(C) (CH,),COH (D) CH,-CH,-CH,-OH

Whicﬁ of the following gives iodoform test ?

(A} CH,OH (B) (CH,),CHOH

(C) (CH,),COH _ (D) CH,3~CH,-CH,~OH
60. Trefiga & fead o3 W W Afel Tewleiel S WA €

A) Ot e o

B) ¥ % fwvaa @

(C) ﬁmﬁm@ﬁaﬁﬁmmﬁg20ﬁm

(D) AR Q's:ﬁ-‘-[ ) SAARRAT HNO , ¥ T
-h-"""ﬂ—-—_

C |- [ 3005-(ss/60)
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6l.

62.

63.

[118)
From which of the following is methy alcohol prepared on a large scale ?

{(A) From pyroligneous acid
{B) From fermentation of molasses

(C) By reacting methyl chloride with dry Ag, 0

(D) By reacting methylamine with HNO 3

Frefefim = - frater ses teenidier o o Tl & 2
(A)  —OH (B) —CHO

N

@ Jc=o0 (D) —NH,

Which of the following functional groups is present in a.icohol ?
(A) —OH | (B} — CHO

€ C=0 (D) —NH

FrreiEd | #5 waifus sl & 2

2

Ay T (B) dfwe Yewleier
(€  m-FARIMEAE (D) WRFARRH

Which of the following is the most acidic ?

(A) Phenol _ (B) Benzyl aléohol
(C) m-chlorophenol (D) - Cyclohexanol

TR Ueehiaret &1 IoR® Hoeieior ¥ fiemr &

(A) I B) =y

€ HHUS ViRl @) fsers

E - | 3005-(s5/60)

Page 24 of 32




64.

65.

| [118]
Catalytic dehydrogenation of primary alcohol gives

(A)  Ketone (B) Ester

(C}  Secondary alcohg] (D)  Aldehyde

oA et 20; ——30, Ft v @ @ielt @
0,—-+0, +0 ()

0+03 20, (W)

al 39 Jrishar 1 8 g &
(A)  Rate = K[0,]? (B) Rate= K[04]%[0,]™"
(C) Rate=K[O,] [O,] (D) Rate=K[O,) [ 0,12

The chemical reaction, 20, —— 30, proceeds as follows :

0,0, +O (fast)

0+0; 20, (slow)
then the rate law expression of this reaction is

(A) Rate = K[O5]” . (B) Rate= Kloslzll 0,1

(C)] Rate=K[O;] [0;] (D) Rate=K[O4] [0,}?
mmﬁﬁmm-wmmmﬁmﬁaﬁm; )
(A 283 B 18R

€ 23R4 D} 33N 4

- | 3005-(ss/60) Page 25 of 32




66.

67.

68.

{ 118]
i ies between whj :
The temperature coefficient of most of the reactions HEs Dby ich of the

following ?

(A)  2and3 “» (B} land2
(€) 2ands D) 3and4
REfioiEs & 4 s Feiee T8 & 2

A B 7%

©)  Few | ) G
Which of the foliowing is not a lyophilic colloid ?

(A)  Milk (B) Gum
(C)  Fog . (D) Blood

ﬁsﬂmﬁﬂﬂ_mﬁmﬁﬂﬁaﬁﬁmﬁﬁaﬁm% 2

A 107-10"° ¢m B) 1079-10"!! cm

(€ 10°-10"7 cm (D) 102-102 em

The size of the colloidal particles ié in betwce:;n which of the following ?
(A)  1077-10"°% em B 109-10"1

© 10°5-107cm D) 10722103

mﬁw,awﬁﬁﬁ%f@ﬁﬁmmmmm%?
@) AR B) s

© T D) T

—“f
=~ [ 3005-s5/60, Page 26 of 32




ﬂ {118 ]

b of .
Which of the following €nzymes is used in the hydrolysis of starch ?

(A) Maltase
(B) Zymase

(C): Invertase

59, mmﬁmaﬁﬁvﬁqmﬁa.{

(D) Diastase

(A) 9 Eg ¥ v

]

B) & R PR & wrer

) U AQESHE g T stfusmay @t &
(D) T FH G A ¢

The rate of chemisorption

(A) decreases with increase in pressure

(B) is independent of pressure
(C) is maximum at one atmospheric pressure
(D) increases with increase in pressure

70, et @y aeA  ged e A A OE1 S AT uig §

(A} Al (B) Fe
. |
() Ca (D) Na
S —
_C_-l — | 3005-(s5/60) Page 27 of 32




[118)

The most abundant metal in earth crust is

(A) Al "~ (B8 Fe

(C} Ca (D) Na -
@Ug - 4 / SECTION - B

Y IWEA WS / Short Answer Type Questions
WV FET 1@ 20 g 3G & 1 et 10 W & I & | FRAw F [0 2 3%

fruifea & ; 10 x2=20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question
10x2=20

carmes 2 marks :
1. gl oA Hfulear s € 2 2
What is carbylam.inc reaction ? _
2. fovafafy @ wwend fe feeter & — oH wg itwt- aar Rr-Féwes g €1 2
Explain with mechanism that — OH group in phenol is ortho- and para-director.
3, Vhehol SI9 T R 2 STRAV & WY @ FL 2
What is Frenkel defect ? Explain with example,
4. FzHeh o fFA FAE 2 TH TR I 2
What are network solids ? Give an example.
5w A v e @ e ) | ,

Explain the cleansing action of soap.

[C |- 3005-ss/60) Page 28 of 32
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10.

1.

DNA & QU1 67 319w & Wy fre & =0 o

(118]

Write the names of compounds obtained on complete hydrolysis of DNA.

HRY IR IR o F;w E )

What are ideal and non-ideal solutions ?

FARER! Ot 5 wd & 2

What are i1sotonic solutions ?

=1 & W9 93 v 1wpac M o
G fdes s

[) CrRRE 3|

Write structural formulae and ITUPAC names of the following :

(i) Lactic acid

(i) Tartaric acid.
“Teifer 3T W ¥ AT

"Aniline is a weaker base." Explain.

g % s e & R & R A @ e < 3

FOT & |

2

Helium is also mixed with oxygen in the respiratory devices of sea divers under

the sea. Give reason.

[ C |- [3005-tss/80)
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13.

15.

17.

18.

[118)
S & fartstes o7 ) s
Explain the bleaching property of ozone.,
v Famit S 3 v s #
Give one example each of homogeneous and heterogeneous catalysis.
O o & P of e w4 v et 2 2 2
What is the utility of leaching in the extraction of Al metal ?
Yol 3R 6 A e # § 7 UH-us I 3 | 2
What are strong and weak electrolytes ? Give one example of each.
st 1 3l R Ao A g g ¢ 2 | 2
What are average a.md in.stantancous rates of a reaction ?
SIFhIHE 3 &) Hea ford | . 9
Write thé structure of dichromate ion.
Tl ageee fovle &1 3qRTT 3 | : 2
Give examples of two bidentate ligands. |
Wmmﬁm%ﬁﬁmmm%rwﬁ, 2
The boiling point of alchohol is greater than corresponding alkane. Explain.
FRT siffpar T & 2 | 2

What is Cannizzaro's reaction ?

I
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(118

¥ wwita W¥ / Long Answer Type Questions

m#@rzz#zsﬁq‘mmg,%awﬁgmé‘;m%fﬁq
5 %% fratf 3

3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks : 3x§5=15
21. 80, Fr=icias & sneha vie & far wa arfafipan e & 2 2x23=5
() KMnO,

(i) K,Cr,0,

How does SO, react with the acidic solution of the following ?
() KMnO,

(i) K,Cry0,

22.",mmﬁm$mmmwlmmmmﬁ@mm
ﬂﬁmmtj | 5

Write the principle of manufacture of ammonia by Haber's process. How does it

react with CuSO, solution 9

2. s, Qdvad o el Qe 3 o 4R ke 0 2 i

.

How would you distinguish among Primary, Secondary and Tertiary alcohols ?

TC — | 3005-(s5/60) : Page 31 of 32




24.

25.

[118]
aﬁ'@m%éﬁ@mwmﬁﬁyyﬁmwéﬂ%-ﬁmﬁﬁ‘ﬁ
Tl €, Tt &Y | 2+3

What do vou understand by rate of a reaction ? Discuss the factors on which

rate of a reaction depends,

TER FAE 2 9 TFA wmR 7 A & 2 v GHR & O S OH-Uh I
5

What is Emulsion ? How many types of it are there ? Give an example of each

type.

7 BT € 99 — | 2 x 2

LB

=5
()  iH aner @ arfuferar i faear mrgde & faers @ o et & 9
(b) U ®I sl FeRIem quT NaOH % W FTE S §

What happens when —

(a) Formic acid reacts with ammoniacal silver nitrate solution ?

(b)  Aniline reacts with chloroform and NaOH ?

@bS-[S;fem
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